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t=zeros{11,113:;
for i=1:i11
for _j=1:
if ((i==1)8(iz=11018(j==11)
£, 0)=100
end
it Ci==13800j==T18{1==1011
(i 1=100
end
it [i==11180)==10)
£(i,1)=100;

TT=100
end _(11,11)

it (Ci==10R0i<=11001==1) it
Tl =20

erd

end
end

for_j=1:11
if (=R T==T00R((j==2 )80 i<=107]
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if (i==1)8((i>=2]
EOL D= s (et ], ot (L 1t L 010

end
if (i==11)8{(j>=218{i<=9])

LU I=lide (2ot (=1 D00 a0 -1 1
end

tl=t;
tprintf( #n )
fprintfi’
fprintfl #n )
for =110
for i=1:11
fprintil #B.2f tlii 1)
end
fprintf( #n')
end
fprintf #in' )
e ')
fprintfl #n g
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100, 00
100, 00
100, 00
100, 00
100, 00
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15499
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157,00
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100, 00
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100, 00
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100, 00
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15153
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100, 00
107,03
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100, 00
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167,32
178,12
153,03
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for i=1:11
datal=t{i,10:data?=t(i,2) datald=t (i, :datad=t{i, 47 datab=t(i 060 datab=t (i 67 :data?=t{i, 7}
dataf=t(i,8):data%=t (i, 9 datal0=ti, 100 datall=tii, 113:
w1{=datal w201 =datad: w3l i i=datad:wd (i J=datad. o i )=datab: vB( i )=datab.vT( i )=data’
v i I=datal. w0 i =data: w100 i J=datall:y11(i)=datall;

end
w=1:11;
subplot (3,4, 10, plot (s, eI D), axis([1 11 90 210] ). titlel " i=11 Q|2 i=1-11 2 2AZ¢2] 2% “),=label( i{1~11)"),vlabel ("Z& "), arid on:
subplot (3,4, 20, plot{s, w10, axis([1 11 90 21000, titlel =10 0|3 i=1~11 @ 2ZF ZL ") ,=label{i{1-113" ), vlabel{ 2% ), grid on:
subplot (3,4, 30, plot(x, w3, axis([1 11 90 210] 0. titlel =9 0] i=1-11 21 272 25 "3, =label( i(1-117" 3, vlabel {25 "), grid on.
subplot (3,4, 4%, plot(x,w8),axis([1 11 90 21010, titled i=8 012 i=1-11 @1 2282 22 "),ulabel (" i(1-110"),vlabel{ 2% "), grid on:
subplot{d, 4,50, plot (e, v, axnis([1 11 90 21003, titlel =7 012 i=1-11 21 2282 2% "), =label{"i(1~110"),vlabel ("2X "), grid on:
subplot(3,4,6), plot(x, w6, axis([1 11 90 21000, titlel "j=6 O] i=1~11 21 272 25 "3, =label (i (1~110" 3, vlabel {25 "), grid on.
subplot(3, 4,70, plot (s, vh,anis([1 11 90 210] 0, titlel j=h O] 0 i=1-11 21 22¢2] 25 "), wlabel (" i(1~110"),vlabel (2% "), arid on:
subplot{d, 4,80, plot{x,wdd, axnis([1 11 90 21003, titlel i=4 Q1D i=1-11 21 22¢2] 25 "), =label{"i(1~113"),vlabel ("2X "), grid on;
subplot(3,4,9), plot(x, w3, axis([1 11 90 210] 0. titlel =3 0|2 i=1~11 21 222 25 "3, «label (i (1~117" 3, vlabel {25 "), grid on.
subploti3, 4,100, plot (s, w2 axis([1 11 90 210] ), titlel j=2 |:||J_ i=1-11 21 222 225 "y, wlabel (O i(1-110" ), wlabel (=X "), grid on:
subplot (3,4, 110, plot Ceuwldaxis([1 11 90 210] ). titlel "i=1 O i=1-11 20 272 =& "yxlabel(i(1-110" ), wlabel{ =5 "), agrid on;
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oY e=E(indE 1)

far j=1:11
datal=t({1,]);data2=t (2, );datad=t({3, ] ):datad=t{4, ) datab=t{5,i);datab=t (G, ) data?=t{7,i);
dataf=t(8,]):datad=t(9, i) datal0=t{10, i) datall=t{11,7).
wI1(i)=datal i v2(i)=datas valil=datad:wd(j =datad: el )=datab: w6 )=datab. w7 J=data?:
yB( i )=datad:v3(i)=datad; w10(i)=datal0:w11{j)=datall;

end

w=1:11:

subplot (3,4, 1), plot{x, w110, axis([1 11 90 21000, title "i=11 0|23 J l 12 F202 2% "), mlabel (Ci01-110" 1, vlabel ("2 %), arid on:
subplot (3,4, 23, plot{x, w100, axis([1 11 890 210] 3. title i=10 0|2 S1090 2E ZE ) elabel (O J01-110 L vlabel ("2 X ), arid on:
subplot {3, 4,30, plot{s, w3, axis([1 11 890 21000, titlel " i=9 0|2 J—1~H 01 27 25 Yyslabel 011100 vlabel 25 ), grid one
subplot (3,4, 4%, plot (s, vB)axis([1 11 90 21000, titlel "i=8 012 i=1-~11 21 22F2 25 ").xlabel (" i(1-110"),vlabel{ 2% "), grid on:
subplot(3, 4,50, plot (e, w?,anis([1 11 90 210] 0, titlel =7 010 j=1-11 21 22F2] 25 "), wlabel (" i(1-110"),viabel (2% "), arid on:
subplot{d, 4,60, plot (s, vB), axis([1 11 90 210] 3, titlel "i=6 Q|2 j=1-11 21 2202 25 "3, =label (" i(1-110" ), vlabel (2% "), grid on;
subplot (3,4, 70, plot (s, vB)axis([1 11 90 21000, titlel "i=h 012 j=1-11 @1 2202 22 "),.xlabel (" i(1-110"),vlabel{ 2% "), grid on:
subplot {3, 4,80, plot (s, wd),axis([1 11 80 210] 0, titlel "i=4 02 j=1-11 20 222 2 "3, «label (" J(1-110" 3, vlabel{ 22X "), grid on.
subplot (3.4, 90, plot(x,w3),axis([1 11 80 210] 0. titlel " i=3 012 j=1-11 20 I 25 "yxlabel (O (1-111" ), vlabel{ =5 "), 9rid on;
subplot (3, 4,100, plot (e, wEd,axis([1 11 90 210] 3. title i=2 0| J= S0 90 A 2 Y wlabel O (1-110 wlabel (=2 &), arid on.
subplot (3, 4,110, plot (e, vl anis([T 11 90 21000, title("i=1 01 j=1-11 20 J2ZM2] 25 "y ulabel (J(1-110" ), wlabel {25 ), grid on;
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BES et 2= LI =
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100,00 100,00 100,00 100,00 100,00 100,00 100,00
100,00 93,60 85.49 6495 62,32 80,96 8058 §1.22
0,00 87,19 9924 015 B5.60 BZ.88 B61.95 BZ.G66
100,00 81,26 B7.B4 BB.Z3 BZ.Z4 4876 47533 4781
10,00 ¥5.35 BOYE B1.Z1 45,04 41,39 39.80 39.93
72,60 BB.09 BY.68 BO.TY 45,87 4282 41.40 41.40
B7.60 B7.04 B335 B340 56,29 B4.26 53,40 ha.ad
gl.25 81,45 6047 8.7 Y726 Th.E2 VH.E1 VRO
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Sh= A 222 LEILS nol 342 2022 HSHAIZ
= 20919 BHEHIAS FC.
= dF @&
1a0.00 100,00 100,00 100.00 100,00 100.00 100,00 100.00 100,00 100.00 100,00
1a0.00 95.00 96.35 95.06 94.15 93,59 593.41 9365 594.35 S96.08 100.00
o0.00 96,18 93.04 90,58 &5.83 &Y. 8Y.a31 8763 8842 89.93 91.70
o000 95,06 91.00 &7.81 &85.47 B83.98 83.31 83542 84,22 8h.5Z 86.93
ao.o0 95,29 91,30 85,00 85,48 83,83 63.03 o303 o09.Y2 84,91 06,46
99,54 9792 S5.2¢ 9247 90,20 bo.bd 87.8d4 67.60 G542 B89.55 31.06
106.02 105.95 104.42 102,46 100,69 93.40 95.73 985.70 99.26 100.30 101.75
120,16 12065 119.91 118.69 117.47 116,54 116.05 116.06 116.64 117.44 113.70
141.46 142,00 141.%5 14110 140037 139.79 13960 159,53 139.90 140.6%7 141.51
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100,00 105,34 10954 112,53 114,56 115,85 116,59 116.88 11653 11556 114,14
100,00 103,35 115,79 120000 122,95 124,50 12556 126.06 126.10 125,73 125.43
o000 116,26 124,27 128,95 131,92 13385 135.07 135.Y5 136.04 136.06 135.99
126.97 131.45 136,06 139.60 14215 143,92 145,11 145,84 146,24 146,40 146.44
144,93 146,43 145,92 151.25 153,14 154,58 155.60 156,27 156.6& 156.58 156,94
169,93 160,61 161.89 163,32 164,61 165.B5 1B66.43 166,95 167.52 167.51 18757
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t=zeros(11,11):
for i=1:11
for j=1:11
it (== ie=11 018 j==11]
t{i,i3=100;
end
fo(i==1)8{(j==T18{j<=100)
t{i,i=100;
end
f (i==1138(j==10)
t{i, 13=100;
end
fo(li==10801<=11018(1==12
t{i, 13=200;
end

E0123=100E (], BI=1800 1, 4)=1 P L ET B)= 180t (1, BY=130;

O, 2)=180 (1T, 31=1800E (1], =170 011, B)= TR0 £CT1, BY=130; ]
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1
1

1=1
O0;4(8,2)=180:£(3, 2)=190:4 (10
O0; (B, 31= 187 £(9, 3)=185.L (10
e 41 B5:4(6,4)=180: L3, 4)=175:4 (10
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25185t (3, 5) 160544, 5)=150; £¢5. 5)=150: £ (6, 5)=150:(7,
B0: (B, 5)= 140 £ (9, B)=130:E (10,

3508, 71=132:t (3, 7)=130,8 (10, T)=124;

a0
H2 =03, TI=130: 1 (4, T)=1 305 (5. 7)=130: £ (B, T=130: £ (7, 7)=
HCZ )= (=200 (4 B =1 22005 B0 125, 06, BY=125, £ (7, B)=1 200 £ CRLB) =125, £ (9, BO=125: £ (10, 6)=1 210
£02,9)=105: £ (3, 30=110:4 (4, D)= 1005, )= 110 (6, D=115: 47, 9)=1 15: £ 00, 9)=115:£ (9, D)=115:4 (10, 2)=1 15

00; (3, 10)=10054 (4, 100=105:£(5, 10)=106: £ (6. 10)=108;£(7, 100=105; (5, 10)=106: (9. 10)=103: £ (10, 10)=102;
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for j=1
if
AL S JARR PR dEn IS RS SR I T BE SRR DO
end
it (i==1080(i==2)%{i<=62)
ECEL =1 8 (2ot (il 0+t (L ST+t (L 01000
and
i (i==T138((==2)&{i<=9))
ECL I =1 e (2ot (-1, D3t (L G+ )+t 0L 01000
end
end
end
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100, 00
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100, 00
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120,00
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163,32
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100, 00
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100, 00
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100, 00
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100, 00
100, 00
100,00
100, 00
100, 00
123,33
147,13
16,54
176,08
185,41
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100, 00
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105,48
109,68
116,96
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185,45
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100, 00
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116,24
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176,77
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100, 00
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129,70
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177,39
185,93
200,00

100, 00
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114,52
122,85
132,33
14,93
154,45
166,21
177,85
189.13
200,00
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100, 00
107,60
115,57
124,23
133,76
144,17
155, €5
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175,06
189,21
200,00
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100, 00
107, 64
116,04
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134,40
144,67
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100, 00
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200,00

100, 00
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134,46
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177,64
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100, 00
105,46
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